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What is the remainder when (17%% 4+ 192%) i

divided by 18 ?

{fa) 8

by 2

i) 1

dy 0

What is the largest value of n such that 10
divides the product

293348 x 53 67 x 7O x 812 % 9¥ i

108 x 152 x 2014 5 2211 » 2515 7
(a) 65
(b} 55
(e) B0

(dy 45

How many pairs (A, B) are possible in the
number 479865AB if the number is divisible
by @ and it is given that the last digit of the
number is odd ?

ia)l B
ithy B
e} 9

dy 11
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Consider the multiplication 999 x abe = def132
in decimal notation, where a, b, ¢, d, e and
are digits. What are the values of a, b, ¢, d, e
and f respectively ?

(a) 6,6,8,6,8,7
(b) 8,6,8,6,7,8
(e} 6,8,8,7,8,6

(d) 86,8 86,7

Three cars A, B and C started from a point at
5 pm., 6 pm. and 7 p.m. respectively and
travelled at uniform speeds of 60 km/hr,
80 km/hr and x kmv/hr respectively in the same
direction, If all the three met at another point
at the same instant during their journey, then

what is the value of x 7

fa} 120
(b} 110
(e} 105
(dy 100

Priya's age was cube of an integral number
(different from 1) four years age and square of
an integral number after four years. How long
should she wait so that her age becomes
square of a number in the previous year and
cube of a number in the next year ?

ta) T years

(b) 12 years

{e} 14 years

{d} - 21 years
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Which of the following statements is nof

true 7

{al The difference of two prime numbers,
both greater than 2, is divisible hy 2.

(b) For two different integers m, n and a
prime number p, if p divides the product
m * n, then p divides either m or n.

6n —1

(n being a natural number), then it is a

(c) If a number is of the form

prime number,

id) There is. only one set of three prime
numbers such that there is a gap of 2
between two adjacent prime numbers.

For x = 0, what is the minimum value of

r x+2 2
2x
ay 1
b 2 ;
1
9.
{e) 5

(d)

Cannot be determined

¢ Ltpx ||__.1“q" = 1, then what are the
I-px\V1+gx

non-zero solutions of x 7
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11.
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In a hostel the rent per room is increased by
20%. If number of rooms in the hostel is also
increased by 20% and the hostel is always full,
then what is the percentage change in the
total collection at the cash counter ?

(a) 30%
(b} 40%
e} 44%
(d) 48%

Radha and Hema are neighbours and study in
the same school. Both of them use bicyeles to
go to the school. Radha's speed is 8 km/hr
whereas Hema's speed is 10 km/hr. Hema
takes 9 minutes less than Radha to reach the
school. How far is the school from the locality

of Radha and Hema 7

{a}  5km
(b) 55km
{c) 6Gkm
(d) 65 km

Which of the following pair of numbers is the

solution of the equation 3**% + 3% =10 ?

fa) 0,2
(b) 0,-2
ey 1,-1
d 1,2
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(a) 20,000
(b) 25,000
(e} 30,000
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13. It is given that log,, 2 = 0-301 and|Consider the following for the next three (03)
log,, 3 = 0-477. How many digits are there in |items :

(108)10 2 : T
In a certain town of population size 1,00,000
(a) 19 three types of newspapers (I, II and III) are
available. The percentages of the people in the town
(b) 20 who read these papers are as follows :
FProportion of
e) 21 Newspaper ey
I 10%
(d) 22 I 30%
I 5%
Both I and I1 palert
Y B
14. The sum of three prime numbers is 100. If one oth IT and 111 4%
Both I and I11 2%
of them exceeds another by 36, then one of the All the three
numbers is (I, IT and TIT) 1%
a) 17 _
16. What is the number of people who read only
by 29 one newspaper ?
(a) 20,000
() 43 (b) 25,000
(c) 30,000
id} None of the above
{d} 35,000

i5.. Ifa, b and e are positive integers such that 17. What is the number of people who read at

+ = E, then what is the mean of SR Re TR
B .. 28 fa) 12,000
b+ (b) 13,000
kg (¢) 14,000
a,bande? id) 15,000
lta) 1 18. What is the number of people who do net read
Wy B any of these three newspapers ?
ta) 62,000
(e) 1-33 (b) 64,000
(c) 66,000
(d) 233 d) 68,000
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19. What is the unit place digit in the expansion
a1 E
1l R |
tb) 3
(e} %
dy 9
20. BSuppose m is a positive integer such that
(n? + 48) is a perfect square. What is the
number of such n ?
fa) One
(b} Two
(e}  Three
(d) Four
1.6
2. For x = ——— , what iz the wvalue of
V2 +43
x+242 o 243 o
x-2%d2  x-2J3
a) 1
(b) 2
() 3
(dy 2
22. =x, vy and z are three numbers such that x is
30% of z and y is 40% of z. If x is p% of v, then
what is the value of p ?
(a) 45
(bl 55
(e} 65
(dy 76
DFGT-T-HTM

23.

24,

25.

26.
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A plane is going in circles around an airport.
The plane takes 3 minutes to complete one
round. The angle of elevation of the plane from
a point P on the ground at time t seconds is
equal to that at time (t + 30) seconds. At time
(t + x) seconds, the plane flies vertically above
the point P. What is x equal to ?

(a) 75 seconds

{(b) 90 seconds

(e} 105 seconds

(d) 135 seconds

Consider the following statements in respect
of two integers p and g (both > 1) which are
relatively prime ;

I Both p and q may be prime numbers.

2. Both p and g may
numbers.

3. One of p and g may be prime and the
other composite.

‘Which of the above statements are correct.?
(a) 1and 2 only

(b) 2 and 3 only

ie) 1 and 3 only

(dd 1,2and3

be composite

In a class of 100 students, the average weight
is 30 kg. If the average weight of the girls is
24 kg and that of the boys is 32 kg, then what
is the number of girls in the class ?

(a) 25
(by 26
(&) 27
(dy 28

For any two real numbers a and b,
Ja-m2+ Jb-a)? is

(a) always zero
(b} never zero

{c) positiveonlyifa=zh
(d} positiveifand onlyifa=b
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28. 053+ 053 TF® T B ?

{a)
(b}

(c)
(d)

29, @fier 3V > N? auft Bt 2, T

(a)
ib)
(c)
(d)

30. Fr=fefiaa o & A4t v sl gen 2 2

1068
1068
1068

1068

N 18 Sul T B

+C

+d

N, 2@ 5 w gl w8
N, 3 ¥ ol uH gyl T 8
N, 3 % HETal Ush 990 e g

(@ /59049
231
(e) 0-45454545.....
(d)  0:12112211122211112222
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g (i 8) | 50 | 80 100
70 g Hit figa o TR 2

(a) 817 kmph
(b) 800 kmph
(e)  7-80 kmph
(d) 777 kmph
aft 2 =P o S} Pefe

b+ec c+a a+h

" § ®H- wY TE 2 2
(a) cdeh firsg 197 —1% swE 2 |

(b) mﬁa%ml%mél

(c) ue fim %mu1%m%t

(d) euh B Shae -;;%arﬁa'{%r
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27. MW a:b=c:d=1:86, then what is the value of | 31. A race has three parts. The speed and time
2 2

5" +€% required to complete the individual parts for a
b2 4+ g2 runner is displayed on the following chart :
@) 1 ! Part I | Part 11 | Part III
600 Speed (kmph) 9 B 75
(b) 1 Time (minutes) 50 80 100
60
What is the average speed of this runner 7
(e) % (a) 817 kmph
(b}  B-00 kmph
(d) % (e}  7-80 kmph
(d) 777 kmph
is 053 3 2
28. What is 0-53 + 0-53 equal to 7 ge. I -2 - b N " ihn Wil S o
- b+ec e¢+a a+b
8y - EGHR the following statements is correct ?
(b) 1068 (2) Each fraction is equal to 1 or 1,
(c) 1068 {(b) Each fraction is equal to % or 1.
d 1068 1
(e}  Each fraction is equal to 5 o =1,
29. The inequality 3" > N¥ holds when (d) Each fraction is equal to %’ only.

{a} N is any natural number

(b} N is a natural number greater than 2 33. The number 3°?! is divided by 8, What is the

remainder ?
{e) N isanatural number greater than 3

a) 1
(d} N is a natural number except 3 b 3
(e} 7
30. Which one of the following is an irrational d 9
number ?
@ 59049 34. A prime number contains the. d‘Ig‘it X at unit's
place. How many such digits of X are
ible 7
(b) 281 possible 7
593 (a) 3
(e) 0-45454545...... (b) 4
(d)  012112211122211112222...... E:} 2
6

DFGT-T-HTM (11-A)



36.

36.

a37.

38.

DFGT-T-HTM

Ifz UF I B 6% B H AW 6% TH T
=1 W, ) faskal H T 6 i W &6 # |
Eq 1 T Iod 8 ?

(a) ¥ 18
(by 36
(c) T42
(d) ¥50

Uk W F HeE 12 TE e 18 wikensit *
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e
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ic)
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(d)

=P ]

39. fam o R FF wg9e 2 4 ax + b) W (x — 1)

41.

42,
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JYal (x + 1) ° fonfam =6 w dvww gum
TEAT 2 | a3 b W= HHI = E 2

(a) 430

(b) 03 3

(¢) 330

(d) 03 =g o quis

fereft 1 =1 QU A | U 1 6 HE @A B,
wafeh @t 3t %1 ®T 10 9 H @ w8 |
Ife 9 g1 e ®W &, 9@ 39 FE w® @
F | fohaan @9 =m 2

(a) 32

(b) 3% 15 fame
(¢) 3% 30 fame
(d) 3 He 45 fime

2+J2+,,’2+J....T 1 HH F1E ?

fal 1
by 2
() 3
d)y 4

wsh witen #, 529 wlenel s %o gy S
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35,

If an article is sold at a gain of 6% instead of a
loss of 6%, the seller gets ¥ 6 more. What is
the eost price of the article ?

(a} T 18
{by ¥ 36
(c) T 42
idi  F50
36. A field can be reaped by 12 men or 18 women
in 14 days. In how many days can 8 men and
16 women reap it 7
{a) 26 days
(b} 24 days
(¢} 9days
{di &days
37. If 3% =4Y = 127, then z is equal to
(a) =xw
(b)) x+y¥
€) —X
X+
(dy  4x + 3y
38. If (4a + Th) (4e — 7d) = (4a — Th) (4e + 7d), then
which one of the following is correct ?
a ¢
{a) —=-=
b d
oA e
(h —~==
} d b
a d
(c) — ==
i b ¢
4a ¢
id) —_—=—
b d
DFGT-T-HTM

39,
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42,

(13-A)

Given that the polynomial (x? + ax + b) leaves
the same remainder when divided by (x — 1) or
{x+1). What are the values of a and b
respectively 7

{a} 4and(
{b} Oand3
{fc} SJand0
(d)

0 and any integer

Tushar takes & hours to complete a piece of
work, while Amar completes the same work in
10 hours. If both of them work together, then
what is the time required to complete the
work ?

(a) 3 hours

th) 3 hours 15 minutes
(e} 3 hours 30 minutes
(d} 3 hours 45 minutes

What is the value of 2 + J2+1|'2“""’I""'““ 2

ta) 1
by 2
ey 3
(dy 4

In an examination, 52% candidates failed in
English and 42% failed in Mathematics. If
17% failed in both the subjects, then what
percent passed in both the subjects ?

(ay 77
(b} 58
{e) 48
(dy 23



43. s =Afw Beehl 7 & § g0y 7€, = 3,90,000
#1 gy g T 5 I ueft, 4im wE
st =m afet & ater s oor | 9wy Biw B
o & faedl waofy s 38 =1 fiedt 2,
Yelsh "¢ &1 IFehl o A1 gu faer aifEe
A faat g=afe o =1 fwd 2, veds 38 =
gl g ufi faerdt =ifen 1wl @ fRen
Topamr o 2
(a) ¥ 14,000
(b) ¥ 12,000
(e} 10,000
(d) ¥ 9,000

44. 40% THF Tehafg == fl W oW wh w8
gaufy SR e oof agf 4 far @ =
2 St 2
(a) 3
(b) 4
e} B
dy @

45. WF = A T 17,200 F gl # fi7 wmy o
famfom =, 39 5%, 6% 3T 9% anfiss T
=ra il g Few G | g asl i
o, 3 uft f= foufeal 4 vwawe = e
g | 9% = W fdw & 78 gwufy fee
&

{a) ¥ 3,200
(b) ¥ 4,000
(e} ¥ 4,800
(d) 5,000
DFGT-T-HTM
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46. (x—¥) +(y—2)" +(z—-x) R 25

47.

48,

49,

(14—A)

Jx—ylly=z){z—x)

(a) 1
iby 0
1
i =
c} 3
d)y 3

Erﬁﬂx';by:cz?ﬁl'bz:ac%_ﬁﬁ}_-pl
x 4

froF arar 2 0

(a) —

¥

B =
¥

tel

| b2

d) -

-

afg p 3T g, FHE «2 - 15x +r=0F qA &
MM p-—q=18, @A rH G FTL ?

(a} 55
(b) 56
(e} 6O
(d} 64

mx2—7x+]2>ﬂﬁ?ﬁ?ﬂ,,ﬁmﬁf‘ﬂﬂﬁ
o hi9-HT UF FE B 7

fa)
ib)

d<x<4

%aa-w:xqa
FaA d<x <o
—wsXx<d A AYG 4 < x < ==

(c)
id)



43. A man who recently died left a sum of

44,

45,

DFGT-T-HTM

Z 3,90,000 to be divided among his wife, five
sons and four daughters. He directed that
each son should receive 3 times as much as
each daughter and that each
daughter should receive twice as much as

receives

their mother receives. What was the wife’s

share ?

(a) ¥ 14,000
(b) ¥ 12,000
{c) ¥ 10,000
(d) ¥ 9,000

What is the least number of complete years
in which a sum of money put out at 40%
annual eompound interest will be more than
trebled 7

(a) 3
(h) 4
(e &

(d 6

A person divided a sum of T 17,200 into three
parts and invested at 5%, 6% and 9% per
annum simple interest. At the end of two
years, he got the same interest on each part of

money. What is the money invested at 9% ?
(a) ¥ 3,200
(h)  F 4,000
(e T 4,800

(d)y ¥ 5,000

47,

49,

(15-A)

-y +(y-2°+@-x?

What 1 :

u dx—-ylly—-zliz—x) equal
to ?
{a) 1
by 0

1
(el E
(dy 3
If a* = b¥ = ¢® and b2 = ac, then what is
3 + 2 equal to ?
x oz
(a) ot

¥
[

¥
ic) -

¥
-

¥
If p and q are the roots of the equation

x¢—15x +r =0 and p—q=1, then what is the
value of r ?

(a) 55
(b) 56
c) 60
(d) 64

For the inequation x% — 7x + 12 > 0, which one
of the following is correct ?

{fa) 3d<x<4

(b} —=<x<3only
(c) 4<x<sonly
(d}

—mecx<d or d<n<es



50. Si9h 520 —2%0 ] UAEE
{a)} 3
by 7
ey 17
(d) W | A w1 A2
51. llﬁ tan x = l,ﬂ-tfx-:'ﬂ(}“%_, Al 2 sin x cos x
A 1R 7
(a) %
by 1
fc} g
(d 3
52. sin 46° cos 44° + cos 46° sin 44° T HHA F1 B 7
(a) sin 2°
(by 0O
e 1
(d) 2
53. WA WL 0 <6 < 90° %,ﬁm{i%ﬁ‘l‘q,
4 sin? 0 + 1 fFE8 937 AAyaT TR B 2
(a} 2
(b))  4sind
ic)  dcosb
(d)  4tanb
DFGT-T-HTM

54, U% THYEYS ABCDEF 7 fa=m ifsw | B ik

55.

56.

(16-A)

CwE TR fem & | A%, B W foud 2t &
fid =1 I R0 30° B, HR C 9 fouw o %
oS T IWTA HI 46° B | B 3 ¢ W fEm

i =1 Fravdi @1 sEaE R 7
| (a) 1:4/3

(b) 1:3

ey 1:2

d 1:2.3

tan 1° tan 2° tan 3° ...... tan B9° =R HH EHU% ?

(a) 0
th) 1
ey 2
{dy =

2 guiar nfemt &, vee nelt 39 4 afior A
st fase & | wmelt et # g & I i SR
T g3 U =Afs gadl Teft § Fr | @ S
ae grff @i 2 | Rt 9me W aw R sn
150° g2l & i 15 fime 9% 20 knvhr <t 71
H I | IAh 913 98 60° Al AR gEan @
# 20 FFE 9 30 km/hr 31 T & et E
Teft § s Smar & | gF nfeEt % & i gl
fopat 2 2

(a) T-Hkm
(b) 105 km
{¢) 12-5km
(d)  15km



50, The expression 52" - 2" hag a factor
(a) 3
by 7
e} 17
(d) None of the above
5l. If tanx = 1, 0 < x < 90° then what is the
value of 2 sin x cos x ?
@
by 1
le) ﬁ
2
@ 3
B2. What is the value of
sin 46° cos 44° + cos 46° sin 44° 7
(d) sin2°
(b) O
e 1
dy 2
53. Suppose 0 < 8 < 90° then for every 0,
4sin® 0 + 1 is greater than or equal to
fa) 2
(b 4sinéd
(e} deoso
{d) 4tand
DFGT-T-HTM

54.

55,

56,

(17-A)

Consider a regular hexagon ABCDEF. Two
towers are situated at B and C. The angle of
elevation from A to the top of the tower at B is
30%, and the angle of elevation to the top of the
tower at C is 45°. What iz the ratio of the
height of towers at B and C ?

(a) 1:43

(h) 1:3

(el 152

(d 1:243

What 1s the value of

tan 1° tan 2° tan 3° .......... tan 89° 7
fa) O

M 1

(el 2

(d) e

There are two parallel streets each directed
North to South. A person in the first street
travelling from South to North wishes to take
the second street which is on his right side. At
some place, he makes a 150° turn to the right
and he travels for 15 minutes at the speed of
20 km/hr. After that he takes a left turn of 60°
and travels for 20 minutes at the speed of
30 km/hr in order to meet the second street.
What is the distance between the two streets ?

(a) 75km
(b} 105 km
(c) 125 km
(d)  15km



57. Af2 3tan 6 =cot 6EN 0 << = B, A o= 7H | 61 frafafgs offea afEmar se7 w1 fa=m

2 ﬁﬁn{ 2
)
Eo " =
b
( L -
a) 6 0-10 8
10 — 20 12
(b) i—
20 — 30 10
@ 3 30 — 40 b
3
) % 40 — 50 9

#fe 39w g9 &1 O 252 B, @1 p FAE F
58. sin 25° + sin? 65° %1 W9 &1 & 7 L5

fay 0 fa) 9
® 1 b 10
(c) 2 -
@ 4 fe)
) 12
59. sin® 6+ cos® 0 + 3 sin® 0 cosZ 0 — 1 HHE FI1
&7 62, fr=fafas sveamar 929 = fa=m Fifaw
(a} 0 z
by 1 5
(c) 9 a8 G
) 4 5 4
‘ 6 5
60. ardfas wewEl o, p, y W & F fam, = -
Frferfign w faam $ifs . = -
1 sec o= 1/4 1 P
2 tan } =20 7 .
3. cosecy=1/2 ;
PRI T w2 &1 rfegeRt #é 2 2
ke # B Fore faeo wva 75T € 2 (a) 6
(a) U - ® 7
(b) @l e) 8
(¢} @A
(d) =R d 9
DFGT-T-HTM (18-A)



57. If 3tan®=cot® where 0<0< -;- then what
ig the value of B ?
T
ia) E
b kL3
(k) 2
T
{c) —
¢ 3
T
(d) r
58. What is the value of sin® 25° + sin? 65° 7
(a) 0
(b} 1
()] 2
idy 4
59. What is the value of
sin® 0 + cos® 0+ 3sin®Bcos®0-17
ta}) 0
by 1
fe) 2
idy 4
60. Consider the following for real numbers o, B, v
and & :
1. sec o =1/4
2, tan =20
3. cosec ¥ = 1/2
4, cosdi=2
How many of the above statements are
not possible ?
ia) One
(b} Two
(el Three
id) Four
DFGT-T-HTM

61.

62.

(19-A)

Consider the following grouped frequency
distribution :

® f
0-10 8
10 - 20 12
20 - 30 10
30— 40 P
40 - 50

If the mean of the above data is 252, then
what is the value of p 7

(a) 9

(b) 10
0 11
d)y 12

Consider the following frequency distribution ;

x f
8 6
5 !
6 5
10 8

9

6
T +

What is the median for the distribution ?

(a) 6
by 7
e} &
dy 9



63.

65.

66.

DFEGT-T-HTM

50 FETTE G quileRl @1 aftgE x B 1 3f e
AW O quiish] i ot nfie s fern sme, &
FfrEa (\TeA) o= A 7

(a) x+1

(b} x+2

() x+4

(d) x+(x/54)

21 s Al W S w faem S

I S w1 T 9ge 21 o oft, 4 & =
£

wd & | T ywE i 2 Hel H e
st F=T R 7

(a) 33
(by 44
{c) 55
{d) 66

7 % smdt fregn ¥ fFefafed § 9w
aftufera g & 2

1. W WE (a9 2RuW)

2.  JONE (IE-gEIH)

3. Tl sma (fowemm)

= feu o e w1 v W AE I g

(a) <had 13K 2

(b) “hed 2 3R 3

(¢) hae 133

(d) 1,23 3

frafafas § o FR-4 = g o wwha &
e sifeng, afhe e 7@ B 2

(a) ra& AfET HETRRT g

(b) STUeNE SATHTA HATRR gl

(¢) TUATEHAT & HieAw B Ul ¢ gl g
(d) v SY-uEg o

67,

68,

(20-A)

% =4tk w1 WiEs =9 T 6,000 2 | afim 6a

W = W wed e #
=7 #1 52 ulr (& 7)
1. G 2,000
2. @ 660
3. 2o 3R fHram 1,200
4. foam 480
5. fafaw 1,660

ﬂﬁ?ﬂﬁ?ﬁﬂfﬂ-@ﬁ]ﬁcmﬁ%ﬁ
yawad @9 e o e e s, 9
foren it ffey & mefue wv amw & Wi
el =i reaTgal e = Bt 2

(a) 125 em 3 5 em
(b) 12 e 3T 415 em
(¢) 1-2em 3 3-5em

(d) 415 em 3T 6 em

'ﬂﬁn‘}lﬁ“ﬁﬁﬁmﬁﬂﬂuﬁiﬂmﬁlnﬁaﬂiﬁﬂ
ol &1 71EA m &, d Gt o UET w1 Hed =
27

fa) 2m- —

(b} 2Zm + 2

(el m- —

(d) m+

—



63. The average of 50 consecutive natural
numbers is x, What will be the new average
when the next four natural numbers are also
included 7
(a) x+1
by x+2
fe) =x+4
(d)  x+(x/54)

64. Consider two-digit numbers which remain the
same when the digits interchange their
positions. What is the average of such
two-digit numbers ?

{a) 33
(b) 44
(e} B5
(d) 66

65. Diagrammatic representation of data includes

which of the following ?

1. Bar diagram

2. Pie-diagram

3. Pictogram

Select the correct answer using the code given
below :

(a) 1and2only

(b} 2and3 only

{e}  1land3 only

idl 1,2and3

66. The data collected from which one of the

following methods is not a primary data ?
(a) By direct personal interviews
(b) By indirect personal interviews
(c) By schedules sent through enumerators
id) From published thesizs
DFGT-T-HTM

67,

(21 -A)

The monthly expenditure of a person is
F 6,000, The distribution of expenditure on
various items is as follows :

Item of expenditure Amount (in T)

1. Food 2,000
2. Clothing 660
8 Fuel and rent 1,200
4, Education 480
5. Miscellaneous . 1,660

If the above data
percentage bar diagram of height 15 em, then
what are the lengths of the two segments of
the bar diagram corresponding to education

is represented by a

and miscellaneous respectively ?

{a) 125 cm and 5 em

(bY 1-2cm and 4-15 em

{c) 1:2 em and 3:5 em

(d)

4-15 ¢cm and 6 cm

If the mean of m observations out of
n observations is n and the mean of remaining
chservations is m, then what is the mean of all
n observations 7

2

(al I — ——
n
2
(b) 2m+ =
mn
2
':.l:} m_m_
n
2
(d m+ 2
n



69. F=fofigs # & #w & 7w &6 &9 A
gife 2 2
(a) wIfEaRT - et feafa
(b} TS - et feafa
(¢) TUIHK HEN - SR
(d) =ETH ~ e
70. Tr=fafes gm v oFdaa = % SHEWal S
N IHFH WHERal WEYS H Hetum £ |
fafafas 4 & #9% & g9 9 ¥ 9
gufera 787 2 7
(a) FEYS I UR T@ - X34
(b) WEYS HEi - ol aHERad
SPat
(c) wEWH & Wl 49 - wHeEwar @ &
a1 37k (FEE
ored )
(d) WEYS BB - wed HI FA
TRARAT
71, UF A H, owaErs saehl |rerd i fiR 7 R
afe aE 6w o T HwE: 30% R
10% =@ § wmd, @ saw uimw fean =
ST 2 '
40
{all '3—%
(b)  20%
(e) 25%
(d) 27%
DFGT-T-HTM

T2,

73.

T4.

75.

(22-A)

of forelt frge 1 w9 =1 =+ snyr @ B
W, d IEF BEed § Ay e w4 A
St 2

(a) 75%
(b) 50%
(©) 25%
(d) g afiada T8

U AR TeaR H AF™aT 700% @el fem
ST # | sEe gt SEea # wiowaa gfg
foperdt 2 2

(a) 300%

(b) 400%

(c)  450%

(d) 500%

a2 10 em B I s W # & GWERR
Semadi & FFEEal 12 em 3 16 cm B, A1
3 st % o 6 g e & 7

(a) 1 cm 3AYET 7 em

(b} 2 cm #FYET 14 em
() 3 cm YT 21 em
(d) 4 cm 3AYET 28 em

‘a’ Y AT UF A % & wE I B
e, 3 el =T 9 F s W R w@E
T B % 3 e @ ofiel &+ ded B, R od
Tl 5910 & | 59 SF1 Gl & Gae SEawa
feperT & 2

2 1
(a) a (n+2]

1

b 2ip_ =
(b)) a®(rm 2]
- R

{e) a(z ]

d  a2(Z +1)
id) a{2+



69.

Which one of the following pairs is correctly
matched 7

Graphical location

(a) Median s
b1 Mean — Graphical location
ic)  Geometric mean —  Ogive
(d}  Mode —  Ogive
70. The following pairs relate to frequency
distribution of a discrete variable and its
frequency polygon. Which one of the following
pairs is not correctly matched ?
{a} Base line of the — X-axis
polygon
(b}  Ordinates of the — Class frequencies
vertices of the
polygon
{e)  Abscissaofthe — (Class marks of the
vertices of the frequency
polygon distribution
(d) Area of the — Total frequency
polygon of the distribution
71. In a rectangle, length is three times its
breadth. If the length and the breadth of the
rectangle are increased by 30% and 10%
respectively, then its perimeter increases by
40
tal — G
W B
thl  20%
(cd  25%
dy 27%
DFGT-T-HTM

72,

73.

T4.

75.

(23-A)

What is the percentage decrease in the area of
a triangle if its each side is halved ?

ta) To%
(b)  50%
{e)  25%
{d) Nochange

The volume of a spherical balloon is increased
by T00%. What iz the percentage increase in
its surface area ?

ta) 300%
(b)  400%
{c)  450%
d)  500%

If the lengths of two parallel chords in a circle
of radius 10 em are 12 em and 16 em, then

what is the distance between these two
chords ?

{a) lcemorTem

b)) Zemorl4dem

{¢c)  Bemor 21 cm

d) 4emor28em

Considering two opposite vertices of a square
of sid-g—: ‘a’ as centres, two circular arcs are
drawn within the square joining the other two
vertices, thus forming two sectors. What is the
common area in these two sectors ?

1

(a) aZ(m+ =)
g

1

b af(x—=)
i

ic) 32(E -1}
2

@ a(Z+1)

2



T6.

7.

T8.

79.

DFGT-T-HTM

‘@’ AT 96 U a1 o Al Dl 3H B FL
T 2 6 us me ateyd a9 ar B | oTeqw &t
s e i T feRat 8 2

aH'E—
a(43-1)

(a)

(b}

(c)

g
1 ufify

5 &

uF # fog H e wEE 71 ga @i e
B g9 H 1Y 44 em B 3 T2 T H
B¢ ga I 9y H gt & | W A
o= 1 e fRar B 2

(al
(b)
(¢c) 462 cm?

(d)

154 cm?
308 cm?

616 cm?

TS 6 ft x 12 ft 3TN & AATHR AT HIdAH o
6 5= 1<l TEL e 17 < a9 ® | e e
w1 <t i vl w1 SEwe feaar 2 7

fa) 9 Fe

(b) 15 a1 Fe
(¢) 1731 $2
(d) 183 $2

80. U T Brye 1wl 3Rl wan S g

81,

(24-A)

®H kAR | AR 3 g W w9 F omy
AT 4: 58, T kI HH =R 2

ta) 2
(b) 3
c) 4

(di 5

TH 12 m T A gl ghd feu o F, e 9
UF I UF I9 6 9 § HIS1 61§ o gEl #
UH T % ®9 H, gU Pl UREg HH gL A
SR | g A Fem R 2

12

{a)
44

(b}

(e)

(d)

n+ 242

tHREYFH M 1 14 H U H B | Tl
w1 afoae 3wt wed 9t oy A kT
B oAl kH HE FR 7

2
fa) 1+ —

V3

2
(hy 1-—

NEY

2
(] 2

3
dy 2



76,

7.

T8,

79,

The corners of a square of side ‘a’ are cut away
so as to form a regular octagon. What is the
side of the actagon ? nhips://recruitmentindia.in/previo

(@ aiv2-1)

) a(3-1)

{e) =
ﬁ+2

d a

@ 3

Three consecutive integers form the lengths of
a right-angled triangle. How many sets of such
three consecutive integers is/are possible ?

ia} Only one

(b}  Only two

ic)  Only three

(d} Infinitely many

Two circles are drawn with the same centre.
The circumference of the smaller circle is
44 ecm and that of the bigger circle is double
the smaller one. What is the area between
these two circles ?

(a) 154 square em
(b) 308 square cm
{e)] 462 square cm
(d) 616 square cm

A rectangular red carpet of size 6 ft x 12 fi has
a dark red border 6 inches wide. What is the
area of the dark red border ?

{a) 9 square feet
ib} 15 square feet
tc) 17 square feet

id} 18 square feet

DFGT-T-HTM (25

80. The perimeter of a right-angled triangle is

k times the shortest side. If the ratio of the
Js-pape!%t’her side to hypotenuse is 4 : 5, then what is
the value of It ?

{a) 2
(b) 3
] 4
(d) 5

81. A 12 m long wire is cut into two pieces, one of
which is bent into a circle and the other into a
square enclosing the circle. What is the radius
of the circle ?

12
m+ 4

{a)

6
w+4

(b}

3

@ m+4

6
(dy ———
n;+2wf§

B2, The angles of a triangle are in the ratio
1:1: 4. If the perimeter of the triangle is
k times its largest side, then what is the value

of k 7

(al 1+ -\%
b 1- -‘%
© 2+ _JE"E"
@ 2

-A)
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83.

B5.

DFGT-T-HTM

uF GHH B # F 10em 3 IEH
BEh 24 cm? B | 9 IHHI B Yo I a0
aft adt yon A FA W fem S ;, @ oA
ot foraen 2 smar 8 2

245 em

V255 em

{c) 265 cm
A275 cm

(al

(h)

(d)

Scm%ﬁﬁ@ﬁ,mﬁﬁﬂﬁw
TH U & 6 AB = AC = 12 cm B | &7 BC
Y o= et 2 2

Z-sfrg cm

346 cm

(a)
(bl
(¢) 347 em

(d) 647 em

fafafea wuEt w faum $ifew .
1. U aufgETg wee g S B R

2. ?‘:ﬁﬂ‘:a‘ﬂﬁiﬂmaﬁaqwm@m
|

39w # | FH-A/E FE gE 88 7
(a) “hae 1

(b) HEHA 2

(¢) 13T 2Ml

(d) Td 1,98 2

86.

87.

88,

(26—A)

T HE T S e F wmn w9l g #
oA goH a AR H 25 m W E | AR TE
A W 08 m A= F AR " et B, A
TAHT q Ga F 14 m 3 Al g A S
# | #fi it wrars et 2 2

(a} 62m

(b} 65m
(c) 68 m

(d) 75m

a1 T 99 UH-GHL I 3 TER Nid=es F o
for o7 & v 9u g 99 & Fg F A
T & | afg Sl gl f wdfss e H
T 1043 em B, A g0 1 =A@ e 2 2

(a) 10em

(b)  15¢m

(¢) - 20em

(d) 3ﬂcm

Frfafas Fuai v fmm Hifau

1. W sEEE fagel @ ARt @i= oS
T FTE g1 1 T I R |

2. THl g9 % @9 @ve (FHe) ° 94 9
IV = T BT R

9 | § R wye w9 A 0
(a) A 1

(b) a2

(¢) 13 22H

(d Ad 1,982



83. The hypotenuse of a right-angled triangle is
10 em and its area is 24 em?. If the shorter
side is halved and the longer side is doubled,
the new hypotenuse becomes
(a) 245 cm
(b) V255 cm
(¢) /265 cm
(d 275 cm

84. In a circle of radius 8 em, AB and AC are two
chords such that AB = AC = 12 cm. What is
the length of chord BC ?

{a 26 em
(b} 36 em
(e) 347 em
(d) 647 em

85. Consider the following statements ;
1.  An isosceles trapezium is always eycelie.
2. Any cyclic parallelogram is a rectangle.
Which of the above statements is/are correct ?
ial] 1only
(b) 2 only
{e) Bothland2
id) Neither 1 nor 2

DFGT-T-HTM

B6.

87.

88,

Tor Ty

A ladder is resting against a vertical wall and
its bottom is 2-5 m away from the wall. If it
slips 0-8 m down the wall, then its bottom will
move away from the wall by 1'4 m. What is

the length of the ladder ?
(&) 62m
(b} 65m
fc) B8m
id) 7T56m

Two equal circles intersect such that each
passes through the centre of the other. If the

length of the common chord of the circles is
1043 cm, then what is the diameter of the

circle ?

fa) 10ecm
(b} 15em
fe) 20ecm
{(d) 30ecm

Consider the following statements :

1. The number of circles that can be drawn
through three non-collinear points is
infinity,

2.  Angle formed in minor segment of a
circle is acute,

Which of the above statements is/are correct 7

tal 1 only

th) 2 only

fe} Both1and 2
(d}  Neither 1 nor 2



go. Frft e ABC % ded H,

srafaema o fEn Fifs .

1.

2,

3.

AC-AB <BC

BC - AC < AB

AB-BC < AC

ek & FRH FEE 2

(a)

(b)

{e)

(d)

Had 1 3R 2
Fad 2 31 3
Fad 1 33
1,2 37 3

90, Fr=ferfiaa wu= w fomm s .

1.

Tt forge it i smehl fim wfeae

(difeam) % dmee & =<t Bl R |

a1.

92,

femeft By ABC #, afe BC Wt ¢ fog D | gg,

2,1 AB+BC +CA>2ADEAT & |

39 § § HE-E/A F TE 2R 2

{a)

{(b)

{e)

(d)

Fad 1
Fad 2
1 3R 2 gH
Far1, a2

DFGT-T-HTM

(28-A)

AT 2T AT W (03) TyATYn @ ot Feafefea w
foram irfero

s 94 fmelt A & el B | 99 % 3l U

wE-geig sed & W 305 vt Sl weel W e
HE R | O H I UH wa-ged TF ¥ | IR
Fareai et 8 o U 1 AW ¥@d % AW %
e R |

e % AEGA B WP b A ° F A
2?

(a) 63 :1
by 7:2

(e) 343 :1
(d 548:1

T ¥ AT H1 deM % Ea § w1 I
&

(a) 4:3

(b) 21:16

(@ 14:11

@ 45:32

ffafiaa wuat s fa=m fif
1. T H USSR aEwd, W F 9% TN
%A H A6 TR |

9. WY W USH HA%A, d94 % 9 TOM
ET%el & S 2 |

I 4 A B/ wYF TE A8 ?
(a) hae 1

(b) ae 2

(e) 13 22F

(d) Fd 1,782



DFGT-T-HTM

Consider the following inequalities in respect
of any triangle ABC :

L. AC-AB <BC
2. BC-AC < AB

3. AB-BC <AC

Which of the above are correct ?
{a) 1and2only

(b} 2 and 3 only

(e} 1and3only

(d) 1,2and3

Consider the following statements :

1.  The perimeter of a triangle is greater

than the sum of its three medians,

2 In any triangle ABC, if D is any point on
BC, then AB + BC + CA > 2AD.

Which of the above statements is/are correct ?

{a) 1lonly

(b)) 2 only

(¢} Bothland2
{d) Neither 1 nor 2

Consider the following for the next three (03)
items :

A cube is inscribed in a sphere. A right

circular cylinder is within the cube touching all the
vertical faces. A right circular cone is inside the
cylinder. Their heights are same and the diameter of
the cone is equal to that of the cylinder.

1.

92,

23,

(29-A)

What is the ratio of the volume of the sphere
to that of the cone ?

(a) 643 :1
thy T2

(@ 33 :1
d) 543 :1

What is the ratio of the volume of the cube to
that of the cylinder ?

fa) 4:3

(b) 21:16
() 14:11
(d) 45:32

Consider the following statements :

1. The surface area of the sphere is
VB times the curved surface area of the

cone.

2.  The surface area of the cube is equal to
the curved surface area of the cylinder.

Which of the above statements is/are correct ?

(a} 1only

(b} 2 only

(e} Both 1 and 2
(d) Neither 1 nor 2



AT AT AT F (03) Wew o feru Frefafaa @
ﬁwzﬁtﬁrﬂ,:

ABCD T% Hgdw 2 f5@d AB = 9 em,
BC = 40 em, CD = 28 cm, DA = 15 cm 371 %W ABC
s THEH B |

94. Frgs ADC %1 &% a1 2 2
(a) 126 em?
(b) 124 cm?
¢) 122 cm?
(d) 120 em?
95. =ad¥ ABCD &1 &5%a T 2 2
(a) 300 cm®
(b) 306 cm®
(¢) 312 cm?
(d) 316 cm?
96. Y= ABC % qftamy 3t figw ADC % qftam &

= o A R 2

(a)

(b}

ie)

(d)
T ST =T 1 (02) Ty @ fern Preefafea w
foremy Hifu

us wAeTE BYF ABC, 2043 em & B A
T g9 % HAd 2 |

4 em
5em
6 cm

7 cm

97. firqw &t y= i s R 2
{a) 30ecm
(by 40cm
(e} BH0em
(d) 60cm
DFGT-T-HTM (30 -

98. F9s ABC &1 %o, WM A WdgH W

d fepae = 2 2
(al 1lhem

(b} 20cm

(ed 204/3 em
(d 3043 em

T ST AT 2 (02) vy & oo Aefeataa m
feram hifero .

UF cEFINE OHE SohaE Wl oard, dier
st F=rE & ATEE 22 em 2 3N IEE Tl R
oFETs 14em B |

99, TEFHIOE THE GCHAF H OE  HIAR

frai 2 2
(a) 288cm?
(b} 216em?

144 em?

sl & & ®ny FAuaife a8 fEmn o
el

(e)
(d)

100. It wESE wAm Sohess i famed
(frm) % =1 (@) =1 dvhe 8, 3 36
AT VR, A1 (S - 3V) Thueh sUe 8 ?

(a) 572cm®

(b) 728 em?

{¢) 1144 cm”

(d) 394 H ® B TEI

A)



Consider the following for the next three (03)
items ;

ABCD is a quadrilateral with AB=9 ¢m,
BC = 40 em, CD = 28 cm, DA = 15 cm and angle
ABC is a right-angle,

94. What is the area of triangle ADC ?

(a) 126 cm®
(b) 124 em?
{e) 122 em?
(d) 120 cm?
95. What is the area of quadrilateral ABCD ?
(a) 300 cm?
(b) 306 cm?
(e) 312 cm?
(d) 316 cm?
96. What iz the difference between perimeter of
triangle ABC and perimeter of triangle ADC ?
(a) 4em
(b}  Scm
{e) 6Gem
{(d} 7em

Comnsider the following for the next two (02)
items :

An equilateral triangle ABC is inscribed in a
circle of radius 20 V3 em.

97. What is the length of the side of the triangle ?
fa) 30cm
(b) 40em
(c) 50cm
(d} 60 cm
DFGT-T-HTM 5

98. The centroid of the triangle ABC is at a
distance d from the vertex A. What iz d equal

to?

fa} 15cm
(b) 20 cm
() 2043 em
(d) 3043 em

Consider the following for the next two (02)
items :

The sum of length, breadth and height of a
cuboid is 22 ecm and the length of its diagonal is
14 cm.

99. What is the surface area of the cuboid ?
(a) 288 cm?
(h} 216 em?
{c) 144 cm?
(d} Cannot be determined due to

insufficient data

100, If S is the sum of the cubes of the dimensions
of the cuboid and V is its volume, then what is

(8 - 3V) equal to ?

(a) 572 cem?

(b) 728 em?

(e) 1144 cm?

(d} None of the above

A)
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